
Time: 40 Minutes Paper G. Science 7th Total Marks: 25

4th Month, 4th Week, 4th Day
Syllabus: Unit # 8:  Action and reaction forces +

Exercise. 

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. According to which law, action and reaction are equal but opposite in

direction? ¾¾¾¾‡‡‡‡ââââyyyyÆÆÆÆ____....ZZZZ½½½½ZZZZzzzzgggggggg~~~~ZZZZ½½½½'''',,,,ZZZZ'''',,,,pppp####³³³³‚‚‚‚~~~~ƒƒƒƒññññ÷÷÷÷????
(a) Newton's first law of motion

EHñ×»ª‡ây
(b) Law of conservation of energy

‡ây’ñZ3,Y
(c) Newton's third law of motion

EHñ×»ŠZ‡ây
(d) Law of mass action 

ÑYMsâkZ½

2. The responding force is called: gggg››››¿¿¿¿ÅÅÅÅ̄̄̄̄ggggkkkkBBBBCCCCìììì::::
(a) Action Z½ (b) Reaction g~Z½

(c) Motion ñ× (d) Gravity ¤/-¨

3. The exerted force on the book is called: ÂÂÂÂ[[[[6666,,,,¿¿¿¿™™™™ääääzzzzZZZZàààà̄̄̄̄ggggkkkkÃÃÃÃ¹¹¹¹YYYY@@@@****ìììì::::
(a) Action Z½ (b) Reaction g~Z½

(c) Acceleration Z&½hÎæ Gc (d) Momentum ñ
!54-

ê
G
EH

4. An example of contact force:                                                ××××¯̄̄̄ggggkkkkÅÅÅÅVVVVwwwwìììì::::
(a) electrostatic force Z¼z_545ë H

G
H¯gk (b) muscular force †°̄gk

(c) magnetic force
!5½545ë G

Y
E
G
H¯gk (d) gravity ¤/-¨

5. The force between two negativily charged particles is:

ŠŠŠŠzzzztttteeeegggg̀`̀̀””””{{{{ffffggggZZZZ]]]]ÆÆÆÆŠŠŠŠggggxxxxyyyy̧̧̧̧]]]]ƒƒƒƒCCCCìììì::::
(a) gravitational ¤/-~&4k5ÿ

H
G
IE

(b) frictional �Û±k5ÿ
IE

(c) repulsion g~&Òjè FIE (d) attraction ZR,½

6. Which statement is true?                                                       ÃÃÃÃyyyy‚‚‚‚ÒÒÒÒyyyyŠŠŠŠgggg„„„„ìììì????
(a) for every action force, there is a smaller reaction force in the opposite direction

CÙZ½¯gkÆaZq-gKg~Z½¯gkƒCì�‚~#³ƒCì

(b) for every action force, there is a smaller reaction force in the same direction

CÙZ½¯gkÆaZq-gKg~Z½¯gkƒCì�ZÏ‚~ƒCì

(c) for every action force, there is an equivalent reaction force in opposite direction

CÙZ½¯gkÆaZq-)z~g~Z½¯gkƒCì�‚~#³ƒCì

(d) for every action force, there is an equivalent reaction force in the same direction

CÙZ½¯gkÆaZq-)z~g~Z½¯gkƒCì�ZÏ‚~ƒCì

7. The Earth's pull on the objects is called: iiii}}}}ÅÅÅÅZZZZââââYYYY6666,,,,°°°°îîîîÅÅÅÅ̧̧̧̧]]]]ÃÃÃÃëëëë÷÷÷÷::::
(a) gravity ¤/-¨ (b) frictional force �Û±k5ÿ

IE

¯gk

(c) electrostatic force Z¼z_545ë H
G
H¯gk (d) magnetic force

!5½545ë G

Y
E
G
H¯gk

8. A batsman hits the ball back towards the bowler, which effect of force is seen:

ZZZZqqqq----««««!!!!****iiii!!!!****îîîî°°°°ÅÅÅÅ§§§§sssszzzzZZZZ::::!!!!****wwwwÃÃÃÃââââgggg@@@@****ììììÔÔÔÔZZZZkkkk~~~~̧̧̧̧]]]]»»»»ÃÃÃÃyyyy‚‚‚‚ZZZZWWWW,,,,ŠŠŠŠ3333ððððŠŠŠŠêêêêìììì????
(a) change of shape ^Åp~ (b) change of direction ‚Åp~
(c) change of state from motion to rest

w•ÐjyÅqª~p~
(d) change of state form rest to motion

jyÐw•Åqª~p~
9. Which one of the following statements is correct? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ÒÒÒÒyyyyŠŠŠŠgggg„„„„ìììì????
(a) 1 m = 1000 km Zq-¢a=DÙZg³¢a (b) m/s is the unit of displacement 

 ek&Ó4g.3ï FGEH»-.$ì m/s

(c) N is the unit of force  EH¯gk»-.$ì (d) 1hr = 60 s Zq-‚=‚J²
10. Which one of the following statements is not correct? ìììì???? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ÒÒÒÒyyyyŠŠŠŠgggg„„„„7777  

(a) Displacement is the shortest distance

between two points. ek&Ó4g.3ï FGEHŠzÕoÆ
ŠgxyÁF,+Ã,ƒ@*ì

(b) Displacement is the distance covered

in one second.  ek&Ó4g.3ï FGEHZq-²~ð
™Š{Ã,ì

(c) Metre (m) is the unit of

displacement.   ¢ae
_5Ó4g.3ï FGEH»-.$ì

(d) Rate of change of distance with time

is called speed.   z‰ÜÆÒpÐÃ,Æ
psƒäÅÑbÃê¹Y@*ì

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) Define Contact force. ×¯gwÅ°p™,X
(ii) Define Non-contact forces. **y×¯gwÅ°p™,X
(iii) Define Gravitational force   ¤/-~&4k5ÿ

H
G
IE

¯gkÅ°p™,X
(iv) Define Displacement ek&Ó4g.3ï FGEHÅ°p™,X
(v) Define Speed êÅ°p™,X
(vi) Differentiale between action and reaction forces. Z½Zzgg~Z½¯gwÆŠgxy�Ût™,X
Q.No.3. A rocket has been fired upward to launch a satellite in its orbit.

Name the two forces acting on the rocket immediately after leaving the

launching pad.                                                                                                      (3)

ZZZZqqqq----]]]]44445555ÕÕÕÕääää GGGGHHHH""""3333ïïïïJJJJ
GGGG
HHHHÃÃÃÃZZZZkkkkÆÆÆÆWWWWgggg####$$$$~~~~ÑÑÑÑõõõõ™™™™ääääÆÆÆÆaaaaZZZZqqqq----ggggZZZZ––––ZZZZzzzz6666,,,,ÅÅÅÅYYYY++++$$$$`̀̀̀cccc****ŠŠŠŠHHHHXXXXQQQQyyyyŠŠŠŠzzzz̧̧̧̧ÂÂÂÂVVVV»»»»********xxxxKKKK����ÑÑÑÑHHHH

bbbbgggghhhhääääÆÆÆÆˆ̂̂̂ggggZZZZ––––6666,,,,̄̄̄̄gggg~~~~îîîîgggg6666,,,,¿¿¿¿™™™™CCCC÷÷÷÷XXXX
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